P. 41 Answers (2.5)
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5. Without herbivores, there would be no second trophic level. Thus there would be no nutrients or energy for
the camivores, which would be the most sfiected

6. Ninety percent of the energy in each trophic level is “lost,” leaving anly a tenth of & percent of the original
energy by the fourth trophic level. After a few trophic levels, there is not enough eneray to support e

7. Esch level of an eneray pyramid is smaler than the one below it o show the loss of eneray from the lower to
the higher trophic levels.

8. For any ecosystem, the bottom layer represents the first trophic level, the second layer represents the second
troshic level. and on up, for al thres types of pyramids. For » coniferous forest. the energy and biomass
pyramids will have smaller and smaler layers from the first to the lsst levels. The pyramid of numbers,
however, wil have = first layer that is smaler than the second.

9. The stesk will require much more energy from the ecosystem than the rice and beans will. Eating “low on the
fo0d chain.” of low on the energy pyramid, is more effcient in terms of the whole ecosystem.
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12. A forest is most likely 1o have such a numbers pyramid because 3 single large organism such s 3 tre= could be
food for many small herbivores.
13 Sample answer.

Killer whale
{quaternary consumer)

iler whale Saalon
Jtertary consumen) [tertry consumen)

Salmon Squid
secondary consumer) secondary consumer)
Shimp. il
(prmary consumer) primary consume)
Agae Phytoplankion
roducer) (oroducer)

14. The shape of the eneray yrmid will not change over the yesr—it is constant. However, during cold westher,
the upper levels may lose more energy as hest than in warm westher.
15 decomposer




